
Computational Statistics - HW 1

From the Textbook

Questions 1.1, 1.2, 1.3, 1.4, 1.5, 1.6, 1.7, and 1.8

• 7 out of 8 Question (for Undergraduates)

• All Questions (for Graduates)

Extra Question

Follow the example we had in the classroom, find the 𝐸(𝑋) and 𝑉 𝑎𝑟(𝑋) based on (i) equations
(2.1) and (2.2), and (ii) simulation for the following cases. Does (i) and (ii) give you the same
result?

(a) 𝑋 ∼ 𝜒2(𝜈 = 𝑁 + 1), where 𝑁 ∼ 𝑃𝑜𝑖𝑠𝑠𝑜𝑛(𝜆).
(b) (Only for Graduate Students) 𝑋 ∼ 𝐵𝑖𝑛𝑜𝑚𝑖𝑎𝑙(𝑛 = 𝑌 , 𝑝 = 𝑃), where 𝑌 ∼ 𝑃𝑜𝑖𝑠𝑠𝑜𝑛(𝜆) and
𝑃 ∼ 𝐵𝑒𝑡𝑎(𝛼, 𝛽).
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